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(N=1%= 1A30Y»AAT)

e Ak iy TmEma A e ey 3 ATasu
c = (a0c» =Y 1=SEE»AC TY1»e=-CT=13Y. NN AVI3(nVA
UEJ = 13831311-U3Y NALT31Y»AC 3YT3YAUY»AA Jwpswyw pnot | $nbnuwyhb pyniok
1 2 3 4 5 6
4000 |AU_2@°UA 12Eé°s 100,776,765.5 90,832,160.6 12,143,521.8
3 Afas0
4050 | 2. AUA20ET 12Eé&°8 X 88,851,304.1 90,832,160.6 218,060.4
3 Afas0
4100 |1.1 2pE=2T2Ugk 12802Tda0A0asU X 9,512,500.8 9,512,500.8 -
3 ATasu
4110 | _&62@ai 1028140 2pPE2T2712580°8 ©i X 9,512,500.8 9,512,500.8 -
P21 921 0280°8
&fCo’
4111 |- 2RE3TAOY»AC SRESWST3A0»0 ~ NS T»ES Tx3AY»f 4111 8,488,734.9 8,488,734.9 -
4112 |- 433 TRaUY»A, 1A30ST3Y EASE4IeaUY»A ~ N3 10T 4112 1,023,765.9 1,023,765.9 -
Tx3AY»A
4200 |1.2 12é&20acAlasuUesLE 21 2a62UgU°sk X 12,507,794.3 12,507,794.3 -
0°eg” ©d3ai0
3 ATasu
4210 | p25a002T2T=2U 12Eé&°56 X 2,471,515.6 2,471,515.6 -
ERe
4212 |- %Y»f-»0CT 1363(a0AlasYY»fi 4212 310,668.0 310,668.0 -
4213 |- TaU&sY3t 1=2é3{40AlasYY»h 4213 1,205,997.7 1,205,997.7 -
4214 |- T3&C 1=363(4pAla6YY»h 4214 173,621.6 173,621.6 -
4215 |- 2430ai3-A3T3Y I3Eeé»f 4215 740,697.0 740,697.0 -
4216 |- Ta8lUC " e3AUS TaRasUY»AC TSA0ST3tasAlasY 4216 40,531.3 40,531.3 -
4220 | Tas1a00asdUesE @i bde220asAlasuuosks X 59,500.0 59,500.0 -
12Eé°5
&RCo™
4221 |- U»A0CY -afTas0asuy»f 4221 1,000.0 1,000.0 -
4222 |- 2 w=3e3NU=3VI3Y -anTai0a0Y»AC - TAT T=2Eéx»h 4222 58,500.0 58,500.0 -
4230 | 420820296200 20k 12820a0A0a00U°L OCég X 1,864,495.7 1,864,495.7 -
“ o340
&RCo™
4231 |- i 3A53T3Y 1363a0Ala0YY»A 4231 12,048.0 12,048.0 -
4232 |- 303T31-53(CY 1=363(40Al40YY»h 4232 58,113.0 58,113.0 -
4233 |- 2RE3T3T34UC UBEY3-Cr3T3Y 136 - 3603Y 4233 81,982.0 81,982.0 -

1=63{a5Ala5YY»h
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1 2 3 4 5 6

4234 |- D> T3TT3T3Y 1363(40Al40YY»fi 4234 33,571.0 33,571.0

4235 |- T3 T3S T3Y 1363(40Ala0YY»hi 4235 24,900.0 24,900.0

4237 |- U»AT3[=0640031T3Y I3Eé»ii 4237 76,732.0 76,732.0

4238 |- CUnhwOnip pOnyph wy| SwrwjntpntGGEn 4239 1,577,149.7 1,577,149.7

4240 |20k @2e027£T2T20 1282020A0a00U°8E 0Cep X 50,182.6 50,182.6
“o3a0
afco”

4241 |- @36Y=3-CU3T3Y 1363(40Al40YY»h 4241 50,182.6 50,182.6

4250 | AUAZOAT Uasafasd 1 a2pa=Uaig (13¢3(a0AlaoyV»fi X 6,492,135.1 6,492,135.1
" Yi&oA»r)
afico

4251 |- b»YU»fAC ~ T2¢a0l6Y»AC AYA=4CT YaRa-ail ~ &=Na=vaiu 4251 6,140,150.2 6,140,150.2

4252 |- @»U»Y3Y»Aic  6300STafasUY»ic AYASOCT Yana-ail - 4252 351,984.9 351,984.9
a=la=val

4260 | U0&absA°d X 1,569,965.3 1,569,965.3
afico

4261 |- TA=e»YIST3ICY YiaoA»h = N=- &6 4261 92,338.8 92,338.8

4264 |- TASYSEAART3ICY YiasA»h 4264 939,757.8 939,757.8

4267 |- T»Y6=30=3(CY ~ N=YASICY 6YY1C YiadArh 4267 86,859.7 86,859.7

4268 |- D314l YAST3T3ICY 3 YiasA»f 4269 451,009.0 451,009.0

4400 |1.4 eao” ek _£2U0°8 X 42,888,110.3 42,888,110.3
31 AT4U

4410 |éao” ek, £=2U°8 f”"°"f"f.720 (p=@=00g=UAU) X 42,700,425.3 42,700,425.3
12v,02Te5420A0a00U°8£U
afico

4411 :_Ungpu_hnhwﬁbn ns {bhﬁu.;UquwJU wewnwywo (hwdwybpuwyhl) 4511 42,691,155.3 42,691,155.3
I3%LU=T»NAA0AIA0Y Y»ACY

4412 :_Ungpu_hnhwﬁbn ja,hﬁwﬁngwU wtwnwywl (hwdwybpuwyhh) 4512 9,270.0 9,270.0
I3%U=T»NAA0AIA0Y Y»ACY

4420 |éao” ek, £2U°08 aa ??1‘2’?%0 (24 b2@=200e=2U£U) X 187,685.0 187,685.0
12v,02Te5420A0a00U°8£U
afico

4421 |- Unipuhnhwlbn ny whtnwyw (ng hwdwGpuht) ng 4521 187,685.0 187,685.0
YCY3Ye3T3Y T3S T»AAA0AIAY Y»ACY

4500 |1.5 _32@2pUasdsples X 439,128.6 439,128.6
31 AT4U

4530 |AUAZOAT , 82@=PUaspUes a°T2T20 D2T121£ 2UE X 439,128.6 439,128.6
22125 _2TU°8£U
afico

4531 |- AYASOCT 1A3U3RYAANY»A & wST3Y ~ NSUSIVUY»AC 43 4637 52,030.2 52,030.2
3¢ TABICY T3RUST»AA40AIA5YY»ACY

4532 |- AYAS6CT 1A3U3RYAANY»A &»w=T3Y - SU3Yusicy 4638 11,763.6 11,763.6
3¢ TABICY T3RUST»AA40AIA5YY»ACY
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1 2 3 4 5 6
4533 | - 2[f AYA=6CT 1A3U=RYARANY»A 4639 375,334.8 375,334.8 -
4600 |1.6 éa0A=2E2T2U UazétUos ©i X 2,347,067.6 2,347,067.6 -
ToUeéezAab2TUes
31 A4l
4630 | éaok=2e2T20 uUasAl=20 _ 6202120 X 2,347,067.6 2,347,067.6 -
25T12p20Ta0Al2g~ Uaz2éeTuos ~UateCro)
aRCo
4633 |- POwywpwOwihb Gwwuwnbbp pniotihg 4728 10,800.0 10,800.0 -
4634 | - W) Gwwuwnbbp pinuotihg 4729 2,336,267.6 2,336,267.6 -
4700 |1.7 2UE 12Eé°s X 21,156,702.5 23,137,559.0 218,060.4
31 A4l
4710 |U1A82T1a0AUa0U°s aa T2&21262120 X 252,202.7 252,202.7 -
(p2&2562T2T20) T2v@2Ted84a0A0a000°64£0
aRCo
4712 |- UTCA=rTa0AlasYY»A 3 8=RaslA al»r=ay1ad 4819 252,202.7 252,202.7 -
T3UUST»AA40AIAYY»ACY
4720 |D281°8, 428T2_£d 1028U°8 <1 TatlA<s, asalsg X 104,995.0 104,995.0 -
1282128020 17267 °5 @2126_2TU°dL Ta0dko
TES2&Ta0d ©U gAaU2006 UT2T020"
&RCo
4723 |- A3AT31CA Tx3AY»f 4823 104,995.0 104,995.0 -
4760 |2UE 12Eé°d X 13,368,923.0 13,368,923.0 -
&RCo
4761 |- 2 I3Eé»f 4861 13,368,923.0 13,368,923.0 -
4770 | a2patéT2ULU gExaoU°s X 7,430,581.8 9,411,438.3 218,060.4
&RCo
4771 |- a=3Na66=3{CY UCcaoY»h 4891 7,430,581.8 7,212,521.4 218,060.4
4772 | wyn pUntd’ hwdwybph pniebh Jupswywl dwuh ywhniunwih X - 2,198,916.9 -
YaY10o yayY1=3(cy U=é T3 w3140 N3 T306400Y»AA
5000 |~.aa ukU=20é2T=20 2TTEiIU°sL T1al X 16,466,461.4 - 16,466,461.4
12Eé°5
31 A4l
5100 |1.1 pA@U2T2U gkzaoUes X 16,458,061.4 - 16,458,061.4
31 ATal
5110 |p2Ug®s @i bE£UaAUAUUCS X 8,639,691.8 - 8,639,691.8
aRCo
5112 |- b»YU»fAC ~ RCYASAIASYY»AC T3é45640U 5112 1,247,736.0 - 1,247,736.0
5113 |- b»YU»AC ~ BCYASAIASYY»AC TSACT S T»A=Yana- 46U 5113 7,391,955.8 - 7,391,955.8
5120 |@°g°2U=20°8 ©i1 &285=21ada0U°s X 7,394,627.6 - 7,394,627.6
&RCo
5121 |- TASYEA&A3(CY 63U TanaiUuy»h 5121 4,415,400.0 - 4,415,400.0
5122 |- 135313V 6303 14RaUY»h 5122 117,178.7 - 117,178.7
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1 2 3 4 5 6
5123 |- 2[f U»U»Y3Y»A " 63AUSTaRAUY»h 5129 2,862,048.9 - 2,862,048.9
5130 |=2UEpE@U=2T2U gEza0U°s X 423,742.0 - 423,742.0
afigo”
5132 |- &a YiasA=1=3Y NCUYST3Y UCcadY»f 5132 36,500.0 - 36,500.0
5134 |- U2E=-13U»13har3T3Y I3Eeéx»i 5134 387,242.0 - 387,242.0
5200 |1.2 42p25U°s X 8,400.0 - 8,400.0
31 AT4U
5221 |- UlatA»fi =~ A3/=-3Y»A 5221 8,400.0 - 8,400.0
6000 | 9. aa ukU=20é2T20 2TTEIUCBL £620a00K0 X (4,541,000.0) - (4,541,000.0)
PaiTe™d
31 A4
6100 |PEGU2T2U BE=a0UCSE £520A00A0 BATEOD X (541,000.0) - (541,000.0)
31 A4
6110 |20p=28A Taolek £52020D/E0 BAOTEOD 8111 (540,000.0) - (540,000.0)
6120 |P28A2T20 Taolsk £520200/E0 FATEOD 8121 (1,000.0) - (1,000.0)
6400 |428T2_8121 2TTET1UCSE £520200K0 X (4,000,000.0) - (4,000,000.0)
PaiTe™d
31 A4
6410 |Pa0K £520200E0 BAGTECd 8411 (4,000,000.0) - (4,000,000.0)
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